I

©

10 9 8 / 6 S 4 3 2 ]
ITEM NO. PART NUMBER DESCRIPTION / QTY.
1 sff60938 Suvirinta vidine dézé 1
2 sff60939 ISorinés dézes korpusas 1
3 sff60941 Suvirinta stogas 1
4 Hermetine Kniede 4x8 A4 Hermetiné kniedé 4x8 A4/A4 9
5 sff60966 Surinktas Montavimo rémas 1
6 Méx16 DIN6921 Varztas Méx16 DIN 6921 4
7 sff60968 Jzeminimo juosta 10x5, 265mm 1
8 MSEXT16mm M5x16 DIN 7985 A2, TX25 4
9 Rivet nut M5 HEX countersunk A4 Kniede verzie M5 HEX 2

countersunk, A2

M

m

ISNW PUD ADMION PRISHUPBIH ‘SY PRISHUPSI] UL }asun]s Jo Apadoid ayi s Buimblp siy]

O

+1,2

400 - 1000 | 1000 - 2000 |2000 - 4000 | AUDAWOD Y} WO} UOISSILUISA UM JISIIAXS UD JNOY}IM PaoNpoIdal IO JUs| ‘paliajsund) 8d Jou
+0,8

120 - 400
+0,5

0.3

+

0.2

+

ISO 2768-1 Permissible deviations in mm for ranges in nominal lengths
+0,1

0,5-6[6-30|30-120

medium

accuracy

m

Tolerance class

designation

—
208 A 10 |SFF51848 Antenos laikiklis 1
| < : Rivet nut M8 Flange hex, open
575 00 ' 37400 | @ - 11 Rivet nut M8 Flange hex, open end, A4 ond 8
. @\ 12 3.5127.001-korpuso dalis 3
B g ~ L 13 |[MéX16mm Méx16 DIN 7985 A2, TX30 8
1 i s " "ﬁ K% ﬂ-ﬂ?‘% [/q@ 14 |Nut M6 DIN985, A4 Verslé M6 DIN985 A4 8
® |goiog] o el r @/ | H 15 sff60951 Surinktos durys 1
e i - | | H | @ 16 |Washer M6 DIN127 A2 Poverzlé Mé DIN127, A2 1
| g.g' ! | . @ | 17 |B18.2.2.4M - Hex flange nuf, Mé x 1 —S ]
i || B il . | = — || | 18 |sff60736 Complete door opening limiter |
©° e i | © C) " 19 |Metric screw insulator (CI841701092A) 4
| (@) e o : : : le - ol :
CS — —
| R o | :‘ l } : \: E
o o i 1]| I a 2
3 B ]
| B o : : j || mm—
‘ 1” ! u:: ] } : \:Eo — — O:\ : e
| @ i i . | - IE/@
L ‘ R '\ 1 H : \77 _ L | : “'H:‘
— — - — - -j_ LIEH
i‘ ! |‘ | 6
A SECTION A-A |
] Lty )
——— -
Surface Material Sheet thickness Weigth
- - - 2113
Project Tolerance Units Scale
Zero DVI NS-1S02768-1, M mm, kg 1:8
Department Designer 2. Designer Format
Stansefabrikken Products AS Gediminas R UAB Vytrolma
Logo Description Document status
' Surinktas Zero DVI be Released
ind Drawing no
S RSffE)O%?O Sheet/Sh
i ev.no ate eet/Sheets
STANSEabrikken - 2024-08-19 1/1

] O 9 8 7 6 5 Filsti: C\Users\ged\mina4vYTROLMA\Deskfop\sff60980\sff60970 3 2 DAK-system: SolidWor}s@ 2007



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Section View A-A
	Drawing View6
	Drawing View7
	Drawing View8


